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•••• Ñi;k tk¡p dj ysa fd bl iz'u&i= esa eqfnzr i`"B 7 rFkk iz'u 13 gSaA  
 Please make sure that the printed pages in this question paper are 7 in number and 

it contains 13 questions. 

•••• iz'u&i= esa nkfgus gkFk dh vksj fn;s x;s dksM uEcjdksM uEcjdksM uEcjdksM uEcj rFkk lsVlsVlsVlsV dks Nk= mÙkj&iqfLrdk ds eq[;&i`"B ij 
fy[ksaA 

 The Code No. and Set on the right side of the question paper should be written by 
the candidate on the front page of the answer-book. 

•••• Ñi;k iz'u dk mÙkj fy[kuk 'kq: djus ls igys] iz'u dk Øekad vo'; fy[ksaA 
 Before beginning to answer a question, its Serial Number must be written. 

•••• mÙkj&iqfLrdk ds chp esa [kkyh iUuk@iUus u NksMsa+A 
 Don’t leave blank page/pages in your answer-book. 

•••• mÙkj&iqfLrdk ds vfrfjDr dksbZ vU; 'khV ugha feysxhA vr% vko';drkuqlkj gh fy[ksa vkSj fy[kk mÙkj u 
dkVsaA 

 Except answer-book, no extra sheet will be given. Write to the point and do not 
strike the written answer. 
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•••• ijh{kkFkhZ viuk jksy ua0 iz'u&i= ij vo'; fy[ksaA jksy ua0 ds vfrfjDr iz'u&i= ij vU; dqN Hkh u 
fy[ksa vkSj oSdfYid iz'uksa ds mÙkjksa ij fdlh izdkj dk fu'kku u yxk,¡A  

 Candidates must write their Roll No. on the question paper. Except Roll No. do not 

write anything on question paper and don't make any mark on answers of objective 

type questions. 

•••• d`i;k iz'uksa ds mÙkj nsus lss iwoZ ;g lqfuf'pr dj ysa fd iz'u&i= iw.kZ o lgh gS] ijh{kk ds mijkUr bl ijh{kk ds mijkUr bl ijh{kk ds mijkUr bl ijh{kk ds mijkUr bl 
lEcU/k esa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkAlEcU/k esa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkAlEcU/k esa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkAlEcU/k esa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkA    

 Before answering the questions, ensure that you have been supplied the correct and 

complete question paper, no claim in this regard, will be entertained after 

examination. 

uksVuksVuksVuksV    %%%% (i) iz'u Øekad    1    ls    4    esa ls dksbZ    3    ç'u dhft,A 'ks"k'ks"k'ks"k'ks"k lHkh ç'u lHkh ç'u lHkh ç'u lHkh ç'u vfuok;Z gSaAvfuok;Z gSaAvfuok;Z gSaAvfuok;Z gSaA    
  Attempt any 3 questions from Question numbers 1 to 4. Rest are 

compulsory. 

 (ii) çR;sd ç'u ds vad mlds lkeus fn, x, gSaA 
  Marks are indicated against each question. 

  1. iSjkxzkQ QkWesZfVax ds fdUgha pkjpkjpkjpkj vkWI'ku dk o.kZu djsaA 4 

 Explain any four options in Paragraph Formatting. 

  2. MS-Excel esa fuEu QaD'ku dk o.kZu dhft, % 4 

 (A) SUM ( ) (B) AVG ( ) 

 (C) COUNT ( ) (D) MIN ( ) 

 Explain following functions in MS-Excel : 

 (A) SUM ( ) (B) AVG ( ) 

 (C) COUNT ( ) (D) MIN ( ) 
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  3. Vªkaft'ku ls vki D;k le>rs gSa \ Vªkaft'ku bQsDV~l ykxw djus ds fy, fofHkUu pj.kksa dh O;k[;k djsaA 4 

 What do you mean by Transition ? Explain various steps to apply Transition 

effects. 

  4. SDLC esa QSDV fjdkWMZ djus ds rjhdksa dk o.kZu djsaA 4 

 Explain methods of recording facts in SDLC. 

  5. fo.Mks esa Qkby vkSj QksYMj cukus ds pj.k fy[ksaA 3 

 Write steps for creating files and folders in Windows. 

  6. oMZ MkWD;wesaV esa gsMj dSls tksM+k tkrk gS \ 3 

 How header is added to a Word Document ? 

  7. RAM D;k gS \ bldh fo'ks"krk,¡ Hkh crk,¡A 3 

 What is RAM ? Explain its features also. 

  8. dEI;wVj dh igyh tujs'ku dk o.kZu djsaA 3 

 Explain 1st generation of Computer. 

  9. mnkgj.k lfgr çkbejh ^dh* dh ifjHkk"kk nhft,A 2 

 Define primary key with example. 

10. ^ekbZ dEI;wVj* vkbdu D;k gS \ 2 

 What is 'My Computer' icon ? 

11. ,e0,l0-,Dlsy dk mi;ksx D;k gS \ 2 

 What is the use of MS-Excel ? 

12. ikWojIokbaV çstsUVs'ku ds dksbZ nksnksnksnks mi;ksx fy[ksaA 2 

 Write any two uses of PowerPoint Presentation. 
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¼oLrqfu"B ç'u½¼oLrqfu"B ç'u½¼oLrqfu"B ç'u½¼oLrqfu"B ç'u½    
(Objective Type Questions) 

13. (i) ,D'ku 'Ctrl + V' ,e0,l0-oMZ esa ------------- vkWijs'ku djrh gSA 1 

  (A) isLV (B) dV 
  (C) dkWih (D) vuMw 
  The action 'Ctrl + V' performs …………… operation in the MS-Word. 

  (A) Paste (B) Cut 
  (C) Copy (D) Undo 

 (ii) odZcqd D;k gS \ 1 

  (A) odZ'khV dk dysD'ku 
  (B) ,Dlsy Qkby dk dysD'ku 
  (C) lsYl dk dysD'ku  
  (D) jks vkSj dkWyEl dk dysD'ku 

  What is a Workbook ? 

  (A) Collection of Worksheets 

  (B) Collection of Excel Files 

  (C) Collection of Cells 

  (D) Collection of Rows and Columns 

 (iii) ,e0,l0-ikWojIokbaV esa ^fMtkbu* VSc D;k djrk gS \ 1 

  (A) ;g LykbM ds daVsaV dks cnyrk gSA 

  (B) ;g LykbM dk :i cny nsrk gSA 

  (C) ;g LykbM ds daVsaV dks cnys fcuk LykbM dk :i cny nsrk gSA 

  (D) ;g LykbM ds daVsaV dh vykbuesaV dks cnyrk gSA 
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  What does 'design' tab do in MS-PowerPoint ? 

  (A) It changes the content of the slide. 

  (B) It adds functionality to the slide. 

  (C) It changes the look of the slide without changing the content. 

  (D) It changes the alignment of the content in the slide. 

 (iv) GUI dk iw.kZ :i gS % 1 

  (A) xzkfQdy ;wtj buiqV  

  (B) xzkfQdy ;wtj baVjQsl 

  (C) xzkfQdy ;wtj baLVªD'ku  

  (D) mijksDr lHkh 

  Full form of GUI is : 

  (A) Graphical User Input  

  (B) Graphical User Interface 

  (C) Graphical User Instruction  

  (D) All of the above 

 (v) fuEu esa ls dkSu-lk ikWbafVax fMokbl ughaughaughaugha  gS \ 1 

  (A) ekml  

  (B) tkW;fLVd 

  (C) ykbVisu  

  (D) fMftVkbtj 
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  Which of the following is not a pointing device ? 

  (A) Mouse  

  (B) Joystick 

  (C) Light Pen  

  (D) Digitizer 

 (vi) SDLC <kaps esa fuEufyf[kr esa ls dkSu-lk oS/k dne gS \ 1 

  (A) fjDok;jesaV xSnfjax  

  (B) flLVe ,ukfyfll 

  (C) lkW¶Vos;j fMtkbu  

  (D) mijksDr lHkh 

  Which of the following are valid step in SDLC framework ? 

  (A) Requirement gathering 

  (B) System analysis 

  (C) Software design  

  (D) All of the above 

 (vii) ,e0,l0-,Dlsl dh Vscy esa jks dks dgk tkrk gS \ 1 

  (A) fjdkWMZ  

  (B) ofVZdy ykbu 

  (C) QhYM  

  (D) MsVkcsl 
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  In the table of MS-Access, rows are called as : 

  (A) Record (B) Vertical line 

  (C) Field (D) Database 

 (viii) ;g fdlh Hkh MsVkcsl dh vk/kkj lajpuk gSA 1 

  (A) QkWjsu ^dh* (B) çkbejh ^dh* 

  (C) Vscy (D) baQkWesZ'ku 

  It is the base structure of any database. 

  (A) Foreign key (B) Primary key 

  (C) Table (D) Information 
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